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SA-3H-S(3AH) - MRAS - BES Off &t 24 INEH HwE
03 RV HA2ZRE S 26,119 25,603 516
OBIRQIOHY DIIHAZZ X 01| 23,723 23,254 469
-Jlz2g 1,510,8008 +12 + 128 18,130 17,756 374
—oiRa Y 56,880 12 + 192 1,081 1,058 23
—ZB2LLY 10,6702 1Y «15A1 2+ 128 1,921 1,880 41
— 9 E 0| 755,4002! *1% +23] 1,511 1,480 31
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- 2003 23,723,0002 *45/1,000 1,068 1,047 21
—Azyes 23,723,000 %29/1,000 688 675 13
—oFI2YBE  688,0008 «65.5/1,000 46 45 1
-ng2s 23,723,0002 *15/1,000 356 349 7
— AT 23,723,0002 *10/1,000 238 233 5
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01 At 2H2l I 12,600 12,240 360
OR M2 22| 11,160 10,800 360
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- 32l
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FUHH2E(AMES) 168,864 169,674 A810
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01 At 2teltl 1,180 1,540 A 360
OelEJl 2ARE 7Yl 15,000& 13| »12& 180 540 A 360
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301 gt d= 72,350 73,100 AT750
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FUTXAHZ2E 24,654 26,454 A 1,800
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HY2IBH (AAES) 69,962 70,832 AB70
Jl2Z3l 44,609 45,479 AB70
JlE2&l 44,609 45,479 AB70
201 L2l 13,680 13,320 360
01 At 22l 13,680 13,320 360
ORA2EII23H 12,240 11,880 360
—Yet=EYl
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01 AL ESFH SH 4,569 6,279 A1,710

O=Xls & AMREHS ¢ 4,569 6,279 A1,710

— My 200,000 1K 200 1,000 A 800

— 0S8 NE 160, 000& *3 K 480 800 A 320
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405 KH&HE S H| 1,390 1,460 AT0
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—zl2HY 10,6702 12 *15A| 2F+12€ 1,921 1,880 41
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201 £B-2%H| 14,760 14,400 360
01 At 22l 14,760 14,400 360
ORM2EII=ZH 13,320 12,960 360
— B2
(40,0003 122 82 )+(40,0002 * 13 x4 & ) 5,920 5,760 160
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(50,000 124 »8& )+(50,000% *13H x4 & ) 7,400 7,200 200
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01 = LH 4 bl 17,760 17,280 480
OgRFAIN204l
(120,000 * 12 *8& )+(120,000& + 13 45 ) 17,760 17,280 480
405 TtabF S| 3,514 3,623 A 109
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Oftas =g A3 25,000 60 23] 3,000 5,750 A2,750
ZOIXKINEHSY 32,400 35,400 23,000
SIS = 0 3,000 23,000
307 QI2+0| & 0 3,000 23,000
04 QIZIBHALE X3 0 3,000 23,000
OstotE =l 0 0 3,000 A3,000
THarzt e 40,031 40,303 A2T2
HAL2H2| 36,821 37,093 A2T2
401 AlEHIZ 20 7,826 8,098 A2T2
01 Al&HI 7,826 8,098 A2T2
OFAMN 258 T2 S8A3MS 2,227,390 2,228 2,500 N2T2
sHMedAY (Hets) 37,480 36,640 840
Jl 2| 37,480 36,640 840
I 2| 37,480 36,640 840
201 LBt 12,600 12,240 360
01 AL 22| H 12,600 12,240 360
ORMegII=2HY| 11,160 10,800 360
— et g
(40,0002 «102 8 ) +(40, 0009 x 112 42 ) 4,960 4,800 160
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201 YEr2 Y| 12,600 12,240 360
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ORMEYII 22| 11,160 10,800 360
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OBIASITE ATAA QA 866,000 866 1,000 £ 134
02 B2l 7,496 8,600 A1,104
OB2822 ¢ HA 7,296 8,400 £1,104
—QAMHOIEE S SHE LB
6.283,0002 6.283 7,200 ~917
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1,013,0002! 1,013 1,200 A 187
soiey 78,660 81,010 £2,350
301 YerE A 78,660 81,010 £2,350
055X - 01N - ESSEAS 78,660 81,010 £2,350
Optzgs=az 25,0002 * 1302 *23] 6,500 8,850 £2,350
FOURIMESY 83,660 85,100 A 1,440
ZURKHEH2Y 22,060 23,500 A 1,440
201 L2 | 19,500 20,940 A1,440
01 AL 22l 19,500 20,940 A 1,440
OFQURKAY 3o aasg
30,0002 «25% * 128 9,000 10,440 A 1,440
Y 2AAY (A 23S) 65,643 64,803 840
=2 40,040 39,200 840
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201 L2yl 13,680 13,320 360
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LV EX-BIEET 12,240 11,880 360
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ZOMEHR S (SUH1S) 367,504 322,901 44,693
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Al 287,594 242,901 44,693
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su2y 65,320 66,320 A1,000
301 LB A3 65,320 66,320 A 1,000
05S% - 01% - UHHSBHI 65,320 66,320 A1,000
OUNHEBHI 25,0002 *60 *23] 3,000 4,000 A1,000
FORAME 2 41,660 49,660 8,000
AASSOHET 0 8,000 8,000
307 £12+0] & 0 8,000 £8,000

04 QIHHAEES 0 8,000 8,000
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01 Al 138,409 93,321 45,088
OBUIS FOME 222 125,088,000 125,088 80,000 45,088

s 80,000 80,000 0
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405 TH&HF St 8,605 0 8,605

IR EEEEN 8,605 0 8,605
OFUNXE NP4 HERY 3,721 0 3,721
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A ELE 160, 0002 * 1} 160 0 160

SELLE 230,0002 * 1} 230 0 230

—3los =X 260,000 *87H 2,080 0 2,080

— N8 9 180, 00021 34 540 0 540
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201 et | 13,680 3,320 360
01 AFR 22l t] 3,680 13,320 360
SLVEX-BIEET! 12,240 1,880 360
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(40,0002 112 %82 )+(40, 0002 * 122 »4 ) 5,440 5,280 160
— 2l
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QI & 2,610 3,100 A 490
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01 At 2teltl 20,440 20,940 A 500
OF0lua ZA==& 10,000, 000& 10,000 10,500 A 500
22| 27,750 28,030 A 280
At2te| 24,540 24,820 2280
405 XtatE SHI 5,320 5,600 A 280
01 At ESFH S 5,320 5,600 A 280
OARE X #¢ 3,320,000& 3,320 3,600 A 280
HY2FZH (ZU28) 42,350 41,510 840
2l 42,350 41,510 840
=&l 42,350 41,510 840
201 Let24d] 13,680 13,320 360
01 At 22/l 13,680 13,320 360
ORNM2EII=ZH 12,240 11,880 360

— et
(40,0002 « 11 8% )+(40,000& 12 +4& ) 5,440 5,280 160
— =S|
(50,0002 * 118 8% )+(50,000& 12 «4& ) 6,800 6,600 200
202 Odl 16,320 15,840 480
01 = LH 4 bl 16,320 15,840 480
OgRFAIN=204l

(120,000 11 *8& )+(120,000& 12 45 ) 16,320 15,840 480




